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Hall Ticket = ' re of
Number = Hdidate ]
Time : 2 Hours o :

Note : Before answering the questions, read carefully the instructions given on the OMR sheet
Ehen ey Eane S0k OMR s SESws’ sSmds Srstess ey SaSed.

SECTION—I : MATHEMATICS

1. If f(x) is a polynomial and a is any real number, then x - a divides
Slx) o8 ei5ose, a g TES Sopy @ond x —a Photnd '

(1) flx) 2) fl0-fla 3) flo)-a (4) None (%8 =)

2. 1f xz-iz=3, then (eosss) x =
= X

(1) #1 (2) +3 (3) +2 (4) =5

3. If one root of the equation x? - px+8=0 is twice the other, then p =
x2 - px + 8 = 0 B, ¥ SoProw oESTWE Do saxd, p =

(1) 2 2 4 (3) 8 4 o6

4. If x =2 is one solution of kx?2 +2x—3=0, then the value of k =
x =2 wond &5 M5 kx? +2x -3 =0, vond k deos =

@ X

1
(1) - @ 2 2 2

i
4
5. If y=1is a common root of the equations ay? +ay+3=0and y? + y+b=0, then ab=

ay® +ay+3=0320am y? + y+b =0 odowd y= 1 &880 oY &and Surosw vows ab =

(1) -% @ 6 3) 3 @ -3
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6. If two roots of x> —3x -2 are equal, the third root is
x3 - 3x —2 @Y, Dotk BaPcrey BEFTL, O HAPED SaPeEN

) 2 (2 1 (3) (4) 2~

1
2

7. 1f 2x+3y=1and (s8c) x+Z =2, then (ecoss) x =
X X

4 4 4 4
1) -2, = 2) 2, — 3) 2, -— 4) -2, -=
(1) 3 (2) 3 (3) 3 (4) 3

| »gl =4 where ajx + byjy+ ¢, = 0 and ayx + by y+cy = 0 are two linear equations, then
@ g C
the equations are
E-L=-g-1—=-i361:5¢:3ma1x+b1y+c1=0ma2x+b2y+c2=0mao&bmzsba§5m
@G &3 o

(1) consistent and have a unique solution
Soligres J3¥ PHS ¥O sowrow

(2) consistent and have infinite solutions
Soligren MOy widcd Myves 5§ dowrow

(3) consistent and have finite solutions
Solioren Sodcn SO FHes ¥D Sowron

(4) inconsistent
edoliores

9. If 2% + 3% =17 and (28ax») 3(2%)-2(3Y) = 6, then (wca)

(1) x=2 y=3 @) x=-2, y=3 3) x=-2, y=-3 (4 x=3 y=2
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10. A fraction in the form E becomes equal to g if 2 is added to both numerator and

denominator. If 1 is subtracted from both numerator and denominator, fraction becomes g

Then 2 =

b
Ewﬁawmw,mm256@@%5%:.«&6&.%:»%515&3‘{_
B%%W.m%=
3 @ 4 @ 2 (4) None (28 w9)

11. In an arithmetic progression the first term is 3 and the last term is 27. The fifth-term
from the first and fifth term from the last are the same, then the common difference is

¥ eolEES’) Daxsed o 3, epd BSo 27. Daokd Bood, B0 Wed Ko 55 Soren HIMoeand & @S By,
Framsg Pessos (Soroste)
(1) 2 (2) -2 (3) 3 4) -3

12. Under usual notations in an AP if 2a = d, then the ratio of the sum to first 11 terms and
the sum to first S terms =
¥ AP 6° 2a = d ©0a5% o5 11 S0 0B Sodcks Do 5 3o Bootsoww IHY =

(1) [%)2 @) [—‘3‘3)2 @) [%)2 (4) None (58 ss)

13. If the first term of a GP is 256 and the common ratio is [—%} the tenth term is

25 Io0RES’ Dot Sto 256. oW STRONBO (—51] o e BE6% 105 smsw

1 1 1
- 2) -= 3) -= %) =
(1) -1 @ -3 B -2 @ 3
14. In a GP, the fourth term is 24 and the ninth term is 768, the first term is
& HoEEE’D TeB $ES0 24 HoBcin S HEH0 768 w0t TR Aok BEw0

(1) "2 2) 3 (3) 4 “4) 6
15. If the centroid of the triangle two of whose vertices are (2 1) and (1, 2) is (0, 0), then the third
vertex is
o8 (Ogine G, Dok Yrew (2, 1) 500 (1, 2), & Soigmrise (0, 0) eoxsd Sansd Bgo
(1) (L 1) 2) -1, -D 3 2,-2 4 (-3,-3
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16.

17.

18.

19,

20.

21,

If the slope of the line joining the points (3, - 6), (-6, 3) is equal to the slope of the line joining
(3, x) and [xz, -3), then x =

(3, —6), (-6, 3) Dotspesd> ¥0B BB Tew (3, X), (x2, - 3) Dotoped KO Wby T BEFSHIRS,
B
(1) -2or3 (2) -3 or2 (3) 2 only (4) 3 only

-2% 3 -3 3 2 2 SPESs 3 SrEd

The area of the quadrilateral formed by (-a, - b), (a, - b), (a, b) and (-a, b) is

(-a, - b), (@, - b), (@, b) Ec¥w (~a, b) Dotoped’ MHE LBty PT D
(1) ab (2) 2ab (3) 3ab (4) 4ab

A(l, 2), B(1, 4), C(3, 2) are the vertices of a triangle. The slope of the line joining the
mid-points of BA and BC is

A(l, 2), B(1, 4), C(3, 2) ©¢oe fopren. saass BA $:0cin BC sagloting ¥0b 3p Ted
(1) 30° (2) 60°
(3) 45° (4) parallel to x-axis

S x-oPR3 Sarotto

ABCD is a trapezium with AB||DC and AD, BC are non-parallel. E and F are points on AD

and BC respectively so that EF||AB. If 2k 2, then . ?
BF FC

ABCD stovon Sotigeos® AB||DC, AD, BOw ssmosores 5. AD, BC o 235 EF || AB ediogem E,

mem.%=2m%=?

(1) 1 2 2 3) 3 (4) None (98 )

In AABC, AD is perpendicular to BC. If BD: DC = 3: 2, then area of AABC': area of AADC =
AABC &' BC3 AD wowo. BD: DC = 3: 2 woxd AABC 3o : ADC (@4br 3 00 =
(1) 2:3 (2) 1:2 3) 5:2 (4 3:2

The angieé of elevation of two buildings on either side of a point of observation between them
are 45° and 30°. If the heights of them are 20 m and 253 m respectively, then the distance
between the two buildings is .

ot T &g Sheren o T Bl W) w8 Doty Mool 45° Wlcin 30° I Felnron. & FERE0e
dtgeo 20 Ds. 18010 25V 3 Do B Do’ ool & FNe By BTV

(1) 45 m 2) 35 m (3) 55 m (4) 95 m
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22. A ABC is isosceles with right angle at vertex B. If AC= 10 cm, then AB=
B B0 55 wouio8’ A ABC 18 Suodurisv (@goso. AC= 10 cm woxd AB =

(1) 5cm (2) 10 cm (3) 5¥2cm (4) None (98 o)

23. For a man of height 6 ft, the angle of elevation of the top of a tree is 45°. If the distance
between the man and the tree is 20 ft, find the height of the tree.

6 witaroo JBH B Gy & Doy Dok, Sa Sen 45°. 1S, el Sogy EroI 20 GNP, Ny
89 2B

(1) 45 ft (2) 32 ft (3) 14 ft (4) 26 ft

24. The areas of two similar triangles are 100 sq cm and 64 sq cm. If the altitude of smaller
triangle is 4 cm, then altitude of the bigger one is

Boks P (gbere Proges 100 B.0.8, 64 Whods. TS IRV 8y 4 Bo.do. woad b fvmo
28

(1) 16 cm (2) 5cm (3) 10 cm (4) 8 cm

25. In the given figure, AB, CD, PQ are all perpendicular to BQand AB= 5, PQ =4, then CD =
Seos® Brls e AB, CD, PQ e BQ & vowes. AB=5, PQ =4 wond CD =

A
P
c

S 4

B = 0
9 20
X §y
(1 1 (2) 9 (3) 20 (4) 5
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26. 1f AD=2, AC=x-1, BE=6, BC=x+2 and (s8ai») AB||DE, then (eoxd) x =

A

B E C
(1) 25 (2) 3 (3) 35 4) 4

27. If O is any point inside a rectangle ABCD, then
ABCD 85 5855308 O 035 wott Dotisy waas

(1) OA+0OC=0B+0D (2) OA-OC=OB-0OD

(3) 0A? +0C? = 0B? + OD? (4) 0A? +0D? =0B? + 0C?

28. Area of the triangle whose sides are 5 cm, 12 cm, 13 cm is
5 2o, 12 Be.db., 13 2e.db. tomresm NS (g PP

(1) 25cm? (2) 30cm? (3) 325 cm? (4) 78 cm?

29. A square of side 3 cm is circumscribed by a circle. Then the area of the circle is
3 0.0, om0 MDD o8 BBO[Se ¥ PPod SODRBIIIO. & BOIY PO

(1) On cm? (2) 4-5n cm? (3) 6mcm? (4) 9 cm?

30. There are two concentric circles of radii 5 cm and 3 cm respectively. If a chord of larger circle
is a tangent to the smaller circle, find its length.

Bots NBoBa WHTe TRrEs VMM 5 .. Wi 3 Bo.do. wers' by TS Ao w¥ wy Iy
PTRE S word TR PP

(1) 4 cm (2) 6 cm (3) 8 cm (4) None (28 )

31. The area of a sector of angle 60° of a circle of diameter 42 cm is
42 0.0, o 18 Jypeas’y 60° S'rmo b byt Pree

(1) 200 cm? (2) 231cm? (3) 197 cm? (4) 462 cm?
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32. If a circle touches inside all the four sides of quadrilateral ABCD, then the following is true :
28 TBOUHHRET) Tl 4LIPER CUOBT ¥ Yo wodtor Adbndd, $4 30 T3S DB SBE?
(1) AB+ BC=AC+AD (2) AC=BD

(3) AB+CD = BC+ DA (4)  All (o2y)

33. If a sphere, a cylinder and a cone are of same radius and height, then their curved surface
areas are in the ratio

ed oy, Tres K9S Ao, Mo Bolcin Sopo HEe PP Y (¢d Buwss')
(1) 4:4:5 (2) 4:J5:4 (3) V5:4:4 (4) None (96 =)

34. Three metallic spheres of radii 3 cm, 4 cm and 5 cm are melted to form a single sphere.
Then the radius of the resulting sphere is

3 Bo.o, 4 Bodo, 5 Bodu TMres /PSS W &4 Aewso 0Mod oS Rlvor FedTeo. w

BTV [ TS0
(1) 12 cm (2) 6 cm _(3) 7 cm (4) 9 cm

35. A hemispherical bowl of internal diameter 36 cm contains a liquid. How many cylindrical
bottles of radius 3 cm and height 6 cm are required to empty the bowl?

36 wo.ko. wolt Wgkere NS n¥ ePRioIs st ENe ¥ord. & IS’ ENe P Jaxa®d 3 Do
TR, 6 oo, N6y 10N BPITEY Hres I TEHT?
(1) 1000 (2) 1078 (3) 1152 (4) None (28 o)

1

36. The value of tan24° tan42° tan48° tan66°=
tan24° tan42° tan48° tan 66° Gy, Jeod =

(1) V3 @) 3% @ 0 @ 1

cosecO - cotb _

37. If sin@ = —7—, then (escasd) =
25 cosechB +cotb

24 7 1
1) — 2) — 3) 49 4) —
(1) = (2) o4 (3) (4) 29
38. The value of sin25° cos65°%+co0s25° sin65° is
sin25° cos65°+c0s25° sin 65° Gy, Jewd

(1) sin40° (2) cos40° @ 1 (4) 0
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39. If cosech - cot = p, then (sa23) cosech + coth =

s

(1) 1+p -2 1-p (3) 4 p

40. 11':.-:;:»'(;“13&]:51 and (358c3) sin(A-B) = ——, 0< B< A< 90", then (sand) A - 5=

"
‘Ji’
(1) 60° 45° (2) 52:5°, 7'5° (3) 30°, 45° (+) 60° 15°

41. A ball is drawn from a bag containing 3 red, 4 blue and 3 green balls. What is the probability
that a ball that is drawn at random is not blue?
33@9,43»@%35@3%&@&5&&&@5@»&9&uwba@ar&omus;m
Sogrsgd

(1) (4) None (S8 o)

(5,00 &)
w|

(2)

wnlw

(3)

42. If a dice is thrown, what is the probability that the number appeared is a multiple of 3?
w&m&g&zmbgmommaﬁsmmoammmmg
1 2 1

(1) 5 (2) 3 (3) 3 (4)

W=

43. If 20 defective bulbs are mixed with X number of good bulbs. If the probability of drawing a
defective bulb is Zl-, then the number of good bulbs in the box, X =

Stonoass 20 penwiy X wod penos® WM, wots® Hod £¥ o way SAbadd Ko
Segragd Zluwéwm»%e:boms

(1) 60 2) 80 _4ar 100 (4) 20

44. From the following table, determine the median of the data :
B 300 35 Wood @Y B Do K80l

Weight 30 32 34 35 40
g |
Number of Students 4 6 7 12 2
Seydpe Sogy

(1) 34 @) 35 3) 12 41 31

SPACE FOR ROUGH WORK / igisd3 Seraxotnds o
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45. The mean of first n natural numbers is
=08a n S Sopge S

(1) n @) n+l (3) 1‘—"2*-3 4)

46. For the data 2, 4, 6, 7, 4, 2, 8, 11, 4, 8, 12, 4 : Mean — Mode =
gy soede 2, 4, 6, 7, 4, 2, 8, 11, 4, 8, 12, 4 % wollogeloien - oriudsiwn =
(1) 4 (2) 2 (3) 25 (4) 8

47, Find the Mode of the following data :
B4 (300 SO0 ERTOUESON Sofwed

Family Size 2-4 4-6 6-8 8-10
o S85re0
Number of Families 5 y 3 2
[.*{:wow Sogy

(1) 466 (2 7 (3) 5 (4) 45

48. The Median of the data 8, 14, 16, 21, x, y, 28, 30, 33, 38 is 25 and if y— x =2, then x = and

y=

8, 14, 16, 21, x, y, 28, 30, 33, 38 &3 LOCHY PTVTHIV 25 $0ain Y- X =2 ©oad x = Soddin
y= )

(1) 23, 25 (2) 24, 26 (3) 18, 20 (4) 25, 27

49. From which of the following curves we can find the median of a data?

B BSHTR, BRGNS B B0 HEdpus’ DO dainye?

(1) Bar graphs (2) Histogram
5 Beo FFvABe
(3) Frequency polygon (4) Ogive curves
¢ Dronpg wiTogos EAS BESw

50. The sum of the observation of a data is 576 and its arithmetic mean is 18. The number of
observations of the data is

L Sorony $8%ee Do 576 Ho0cn TR woliEin 18. & KTowuesd $0¥uve Sowg
(1) 24 (2) 32 (3) 48 4) 36
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51. If x is any rational number in the form £, where g is in the form 2™5" where m, n are
q i

non-negative integers, then x will have a decimal expansion which is

xaﬁb%&&é‘%wﬁé@%.q@éqeﬁb2m5" & Do doB. M, n o BRPBFS TV

JrPoTe, wond x A, ST DYe

(1) terminating (2) non-terminating
RO woBsL PAO

(3) non-terminating, recurring (4) None (D8 =)
wOBED ), YITYH

52. p is any prime number and it divides a2. Then p also divides
D &5 ST Sogg o0 p, a2 P00, GoD P wveeenes D 5P PRS00,

(1) a+1 _ 2) a-1 (3) a (4) None (28 svth)
5.3_ 31033 243 _
(1) 27 (2) 81 (3) 243 4) 9

54. If 2log; 4 +2log;o 3 -2log;o 12 =log)g X, then (woxd) x =

(1) 10 (2) 4 (3) 2 4) 1

55, If cube of.5 can be written in the form 9m or 9m+1 or 9m +8, then m (m is a positive

integers) =

5 G, 3 9m B Om + 1800 9m + 8 urses’ g m = (m v & Yregossw)

(1) 9 @) 12 (3) 13 @) 15

SPACE FOR ROUGH WORK / D83328 Seroaotieds Foam
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56. From the diagram estimate sum of elements in (AUB)NC.

Sese PETERT SREW (A U B) N C 6% saremre oo Softsed.

ol

A

(1) 18 2) 12 3) 9 @) 3

57. How many subsets the set P = {0, ], 2 3} will have?
P={0 1 2 3}« 5203 o &S3dotoo $ov;

(1) 4 2) 16 (3) 8 (4) 32

58. If n(A-B) =5 and (5:0a%) n(A N B) =2, then (wox3) n(A) =

(my 3 2) 4 (3) 6 (@) 7

59. The degree of the polynomial (Vx + )2 +(Vx -1? is
WX +1)2 +([Wx - )? & woosd Gy, Srssn

(1) 0 ) 1
(3) 2 ‘4) Not a polynomial
DTS TS

60. The common zero of the polynomials f(x) = x% - x-6 and glx) = x% -5x+6is
flx) = x2 - x— 6300 g(x) = x2 —5x+6 o &uyd Wi

(1) -2 (2) 3 (3) 2 (4) None (28 =)
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SECTION—II : PHYSICS

61. The reverse process of evaporation is
Pipenen 6% (BB

(1) melting (2) freezing
s Sovgnsvo

(3) condensation (4) oxidation
FoBtseaso ed BG5S (edyseo)

62. A house has one bulb of 100 W used for 10 hours a day. The cost of electric energy used by
the bulb in 30 days @ ¥3 per kWh is

100 W 08 50 o &5 0oyt &8 306" Serd 10 Ho.oo S3APAR. &8 kWhi @ ¥ 3 @wto, © wegd 30
Berey SBAPAT, DIDPKO oD Msod ¥ Dewss
(1) ®90 (2) €100 (3) ¥30 4) ®10

63. Four wires each of resistance 8 Q are arranged in the form of a square. The resistance
between the ends of any diagonal is

e55,0 8 Q Dend 5DAD 4 Do ¥ DBXERPTTS’ ST, S Bot STe Sy N6'GEw
(1) 32Q 2) 16Q 3) 8Q (4) 0125 Q

64. 2 volt x 3 coulomb = _____
2 Siai} x 3 Kpored =
(1) 6J (2) 6Q (3) 6 A 4 6 W

65. Which among the following materials has resistivity of 10x 10'° @-m at 20 °C?
20° C %5 10x 10'% Q-m 235 %0 ¥0Ns Sovgan
(1) Air (2) Lead (3) Copper (4) Glass
™o hse =36 e

66. Read the following two statements and pick the correct answer :
o0 Dotk TI> HAD VOGN BATFGe Jowssod :
(a) Human skin offers more electric resistance than the organs inside the body.
S0k ¥8006% wscimeTy B S Dasd ey BrpHBs.
(b) Humap _{body offers a common electric resistance of 10000 Q always.
2% 3860 Mesom 10000 Q 3 oS A, BompBe.

(1) Both (a) and (b) are true (2) Both (a) and (b) are false
(a) 08ain (b) Botr e (a) 2o8ain (b) Tots ByS
(3) Only (a) is true (4) Only (b) is true
(a) SPER> des (b) worERs dese

SPACE FOR ROUGH WORK / 285303 Serosoweds JoRo
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67. The resistance of a wire of length 100 cm and area of cross-section 1 mm? is 1 Q. The specific

68

69.

70.

71.

resistance is

100 cm s, 1 mm? sogdys proe 5OAS o5 & 2% 1 Q wowd 233 s
(1) 108 0Qm 2) 1073 Qm (3) 19m 4) 10°°Qm

Which among the following does not involve the principle of total internal reflection?
B0l THIE® SoYITOBY SOUEEIBND SFRNEID
(1) Working of an optical fiber
esps6 pod SVTawzoe
(2) Shining of diamonds
SEre @Brho
(3) Appearance of mirage on distant road
ErUP By domnrpes Shonte
(4) Working of a solar cooker
Fob 058 30 Davso

A rectangular tank of depth 6 m is full of water of refractive index % When viewed from the

top, the bottom of the tank is seéen at a depth of
6 m %o o 8 SBLRTEY w3 FY, 45 @IS0 orse 30N N3G Jod And. Ped Wrhvpm &8

el grItsey XObems &%y
(1) 45 m (2) 25 m 3) 1-3m 4) 3m

The speed of light in a medium is same as that in vacuum. The refractive index of the
medium is

Y ciroed’ T D Wed’ Tod PR MTEe. e aisse BiENS Ko

(1) o 2 1 (3) 1:33 4 3

If u and v are the object and image distances respectively due to a convex lens, then which
among the following statements is false?

U $o000 U e n¥ Kot Selo DD Bl Hoddin HSDon ErTIey BN waadd §o8 O TESL BT
(1) As u increases, v also increases
U 0EAFS, v ntorsood
2) Asu ir:creases, v decreases
u BOAS'Q, v BIHBood
(3) As u increases, v remains constant
U ROATR, U SPEES
(4) None of the above
o0 T
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72. Read the following two statements and pick the right answer :
800 Dotk I Mook BOGD TEE® Dowsod

(a) A concavo-convex lens has two curved surfaces.
DI -KoogrTS SLTd oty WEBCEY &otTan.

(b} A bi-concave lens has two curved surfaces.
O 3708 oo HFBorey Gowron,

(1) Only (a) is true (2) Only (b) is true
(a) SPER> Jesw (b) wrEEs Jes

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
() $8c% (b) D& Nerd (a) 30050 (b) Do&> Bsyd

73. A convex lens forms an image at infinity when the object is placed
SHDY N Fo B SOIIHLD, 15 WoPTU el eHOBEICS’ HOROPY Niood?
(1) at focal point
- o5
(2) at centre of curvature
SEoee B
(3) between focus and centre of curvature

T SoBcin HETHoEe Bag

(4) beyond centre of curvature
SETEoo eNe

74. The magnetic field lines near a long straight wire are of
o, sl BiY I No ool we Sped
(1) straight lines parallel to the wire
S SIPoBBOI Goi MG

(2) straight lines perpendicular to the wire

|, I eower 0% SoFpen
(3) concentric circles centred on the wire
i Sogom D> So Spen
(4) radial lines originating from the wire
26 508 &t5,20% BdawE SoKe
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75. Which one among the following pair of ‘physical quantity - unit’ is wrong?
Bo8 PONTI - (e’ mowes' DO Biy?
(1) Induced current - Ampere
(208 Dsod - esobawd
(2) Magnetic flux — Weber
cdmob wfmire - b
(3) Magnetic flux density - Weber/ metre 2
oot whoin JoEss - dub/bs?
(4) Induced EMF - Tesla
(206 DasTel weBw - O

76. Regarding AC generator, which among the following statements is wrong?
AC E500b% Sowodod 3o O g BHy?
(1) It has two slip rings
T8 Doty 19 Selben Soroaw
(2) As the coil rotates, the magnetic flux remains constant
Difiony SLOILBIIPED, BcM 0B LHTwre oM &owed
(3) It can be converted intod DC generator

o DC Badebr Srtisugo
(4) None of the above
o0 T
77. The device used to convert mechanical energy into electrical energy is
PO ¥3D DD BT BBy AMNH
(1) ammeter (2) galvanometer
whagts et
(3) motor (4) generator

AP F5owd

78. The magnetic flux through each turn of the coil increases by 0:01 Wb in 0-1 s. The maximum
induced EMF in a coil of 100 turns is

2 SiRaegE'd 0 Wagdes® 0-1s ¥ told efTire Bdibse 001 Wh wond 100 W 308 Siogé’
Dt KO (0B DETHEE LOSN
(1) 10V 2 1V 3) 01V (4) 001V
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79. The magnetic force acting on a straight wire of length L carrying a current I kept
perpendicular to the magnetic field of induction B is
B (56t D8 ecidm,ot o5 vowom dols SRXEY L $00ks oW Kom @iiret Myd I waxnd, oW
SNBC LcIMoB w0

(1) 0 (2) (3) BIL o

B w
[l

80. To correct one’s myopia, the selected lens should form an image at
35 CHREDS ITO TRD Bes¥o DETUHOND ($ODow YN
(1) near point
EDSETS Dotso 38
(2) far point
RORETE Dotioy B4
(3) both near and far points
523, $00cix KOS Dotsoe 5
(4) None of the above
3D Y

81. Pick the false statement from the following :

Bod TIE® Bisy TEEw DO?

(1) Eye lens forms a real image
¥oud Selio Ju (HODo) MhHaked

(2) Image is formed on retina
IT (ODowe Vhatod

(3) Cornea contains rods and cones
SIS’ Somren 5005 ToPoHES SoLTON

(4) Distance between lens and retina is about 2:5 cm
Soud HessPR3 BoBctino Budr WogErto 2:5 0.0

82. Arrange the following colour of light in decreasing order of their wavelength :
Bod Tod Bolbess Th BLOIRT © Lo wstire Ees’ eiltpd :

o Blue (Yeo), Red (), Violet (&)

(1) Red > Blue > Violet (2) Red > Violet > Blue
ALY > Voo > & Y > B > Neo

(3) Violet > Blue > Red (4) Violet > Red > Blue
o > Joo > N & > oY > Vo
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83. The example of dispersion is

84.

85.

TS TENres SO

(1) red colour of sun during sunset

RPTgESacioo Shooied’ Mt M Eento
(2) rainbow

R0y

(3) blue colour of the sky
S0 QoY) Dwo Yok

(4) droplets on plants

o e w3 DosoHen

When we enter a cinema hall, we cannot see properly for a short time. This is because of
Soo LUBT HAAoEE™S By ThY Hould ¥ EDBowy. TR WMo

(1) eye-lens becomes opaque
Soud SeSo wTEGSom SEe

(2) pupil does not open
B0 BoosEdsse

(3) ciliary muscles do not react
PO Sontren Molony Moo

(4) adjustment of size of pupil takes sometime
SR0S BORE0 Stes §ob Mo Sese

¥

The negative sign in magnification indicates that the image is
ST LoeTE DevNito SOA &l o ODowsw

(1) erected (2) inverted (3) real (4) virtual
Bo/TRVELS) Sodotoen e 205
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86. An object 4 cm in size is placed at a distance of 20 cm in front of a concave mirror of radius
of curvature 30 cm. The position of the image is at

4 cm 30aree Mo ¥ B 30 cm SE, TyRge SOAS ¥ PP Styro Bavets 20 cm EFsest dod.
BODow FSH

(1) -25cm (2) -60 cm (3) 20 cm (4) -37-5cm

87. The angle of incidence of a light ray on a plane mirror is 45°. The angle between the incident
ray and reflected ray is

&5 $00 Shrop Tedtne GwY, SENS e 45°. wipts S 30T Kbty SovEEd Rierdd Sog S'eo

(1) 22:5° (2) 45° (3) 90° (4) 135°

88. The specific heat of water is 1 cal/gm-°C. Its value in J/kg-K is
3 23Pse 1 cal/gm-°C. &+ deos J/kg-K &

(1) 273 (2) 1000 (3) 2100 (4) 4180

89. An object Pis at 100 K and another object Q is at 25 °C are kept in contact. The flow of heat
is from
100 K &afis SOA% P wiso SRio%p $0ci 25°C &ms 3005 Q e wiipf wd’ dod, &y wovmsn 33
oGy SomIN

(1) Pto Q (2) Qto P
P3ed Q% QRed P%

(3) No flow of heat (4) None of the above
GY B Soki e S

90. Which among the following has lower specific heat?
ey 3P0 SOASO

(1) Mercury (2) Iron (3) Ice (4) Water
s FRowa0 B0t o)
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SECTION—III : CHEMISTRY

91. The pH of blood is in between
B5E ooy, pH Desis D Both Dese Mgy GoRIN?

(1) 7-8 2) 6-7 3) 4-5 4) 13-14

92. Match the following :
B4 (00 TUID mBSERE0:

a. Caustic soda (i) NaHCOj;
o8 For

b. Baking soda (i) CaSO0y4-2H,0
Bof F

c. Gypsum (i) CaSO,-~H,0
23,50 2

d. Plaster of paris (ivy NaOH

igb e o o)

(1) a b c d
(i) (i) (1i) (iv)
(2 a b c d
(1) (iv) (ii) (id)
3) a b c d
(iv) (i) (idi) (i)
@4 a' b ¢ d

(iv) (i) (1) (ii)

93. NaCl + H,0+CO, +NH3 — X +NaHCO3. The X may be
NaCl + HyO+COy +NHz — X +NaHCO5 &+ 9558° X O Songiw engstapo?

(1) NH4HCO4 (2) NHL,OH (3) NH,4CI (4) (NH4),COj
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94. The maximum number of orbitals accommodated in a sub-shell with the angular-
momentum quantum number [ is

s‘éau@b;nwpa&m%lmme:sqm&socnoeanﬁmm

(1) I+1 - (2) 4l+2 3) 20+1 @) 1+

95, As per Moeller chart, the correct ascending order of energy in the following atomic orbitals is
ww&mmm@oﬁmm@é‘ﬂﬁyamm(wﬁ FSosa)

(1) 3p<3d<4s<4p (2) 3p<4s<3d<4p

(3) 3d<3p<4s<4p (4) 3p<3d<4p<4s

96. The wavelength of visible light is in between
Ess o0 @ax, Ber BY 53 O Desde Wy BoRI?

(1) 100 nm-300 nm (2) 400 nm-700 nm

(3) 700 nm-900 nm (4) 800 nm-1000 nm

97. Which of the following elements constitute a Dobereiner’s triad?
B4 300 Baromes’ DD Gredih @¥sels $rlot?

(1) Li, Na, K (2) Na, K, Al @) C,OF (4) He, H, C

98. The formula of compound formed between the element X of 1IA group and another element
Y of VIIA group is
X &3 IMMWWY@WMW‘SWW%E@&S&;&M B0y, FET

(1) XY (2) XY3 (3) XpY (4) XYy

99. Which group elements have the outer electronic configuration as nsznps?'
memﬁwa@mwﬁwnﬁ@% &0e00?

(1) VA 2) IVA (3) A (4) IIA
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100. Which of the following element has largest atomic size?
B4 (300 BoroTed’ B3 ey BUSIrD e doeoed?

(1) Be (2) Mg (3) Ca (4) Ba

101. The correct order of ionization energy in the following element is

&1 (300 SaroToNs pABEID wobIn T ESosw

(1) F>C>0 (2) F>0>C (83) O>F>C (4) C>F>0

102. The ionic bond is formed easily between which ions?
Jored eaie Baks OIS wogo BOEM DhEasocd?

(1) Larger size cation and smaller size anion
©QY Prr 585 SoirR Bolcin B¥yS Per &) CUFRANS

(2) Larger size cation and larger size anion
OO¥ Per &) TCIT S0 WS er &%) IS

(3) Smaller size cation and smaller size anion

BEyD P &%) ToS Bo0cks By e Gy CINSAIRS

(4) Smaller size cation and larger size anion
BED Prr &%) TS So0an Mo S Per &% AR

103. The number of lone pair of electrons in CH; molecule is
CH, wrwpd® éod rowd mow Jogis Nopg

(1) zero 2 1 (3) 2 4) 4

104. The bond angle in H,O molecule is
23 (Hp0) erwpé’ sot wogSiensn
(1) 107°48’ (2) 180° (3) 109°28’ (4) 104°31’

105. The molecule that contains only sigma bonds in the following is
G (800 wm@é‘b&bﬁmﬁw&& 58 Gowwod?

(1) C,H, @) 0, (3) Ny (4) NH,
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106. The type of hybridization in C,H,4 molecule is

(1) sp _ (2 sp? @ sp® “4) sp’d

107. The low reactivity metal in the following is
B+ 300 THIE* DB BiyD Borhen KO S

(1) Au (2) Mg (3) Zn (4) Cu

108. CaCO3 — Ca0 +CO,. This reaction is an example for
CaCO3; — Ca0+CO, e 1055 803 &ovisse?

(1) smelting (2) calcination
iR Pres

(3) reduction (4) roasting
HotoNteaisa e

109. Ag,S is dissolved in KCN solution to get
Ag,S 2 KCN (msesions’ 50owm O samgisases Duyisso?

(1) AgCN (2) Ag(CN), (3) Ag;SCN (4) KNC

110. Which of the following is an unsaturated hydrocarbon?
T 300 T3S DB evoiyy ETS?
(1) CH, (2) C,H, (3) C3Hg (4) CyHg

111. Successive compounds in a homologous series possess a difference of

S0 (@36° Dot BN $dowre Sogs ol Hesseo

(1) —CH) unit (2) (—CH,) unit
(—CH) csamdS (—CHj) s

(3) (—CH3] unit (4) (—Csz) unit
(—CHj) a%a»dsS (—CoHj) crds
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112. The IUPAC name of the compound CH,=CH—C==CH is
CH,=CH—C=CH e% s @oo%, [UPAC avasiios

(1) but-3-ene-1-yne
BgS-3-840-1-28

(3) but-4-yne-1-ene
arS-4-25-1-8

(2)

(4)

but-1,2-ene-3,4-yne
wrgS-1, 2-%45-3,4 0

but-3,4-ene-1,2-yne
wﬁ-& 4-545-1,2 o8

113. Ethanol on heating with acidified KMnO, to form ethanal and acetic acid. This reaction is an

example of

556 esfogys KMnO 46" 50; a0d g8 medain Muidf essyiasitn Deptoiiono, H+ S0y B3 aownoe?

(1) addition reaction

SoSen B

(3) reduction reaction

Hosoxbies W0

()

(4)

substitution reaction
Oges D

oxidation reaction

esdytien 30

114. 5-8% solution of acetic acid in water is called as
DI6* 5-8% M3 ey (e &’ TR Disocertio?

(1) vinegar
Sné

(3) gasohol
mkE

115. The general formula of ketones is

.i.«s"ax_: Dok, GOy P

(1) R—O—R (2) R—CO—R

(2)

(4)

(3)

116. The chemical formula of bleaching powder is

HOoR b Gy, SIS PUoe

(1) CaOCl, (2) Ca(OH),

(3)

formalin

o5

cough syrup
&1y ot

R—COOR

(4) R—CHO

Ca0 (4) Ca(HCO3),
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117. NaCl + AgNO3 — AgCll + NaNO; is an example for
NaCl + AgNO3 — AgClJr+NaNO3 ey W 803 &oEintes?

(1) chemical combination (2) chemical decomposition
BN BP0 B;CS DAPHSD

(3) displacement reaction (4) double displacement reaction
S Fdigiode BRI S8y DTN

118. The spoilage of food can be prevented by adding preservatives like
e5i0 MESKon® Somrecd) RS NN NeodHowa?

(1) vitamin C only (2) vitamin E only
DS C sovpd JewS E s
(3) vitamin C and vitamin E (4) vitamin D only
208 C 98cino s E Dwdon D srpde

119. CgH;504 = xC,H5OH+ yCO,. In this balanced equation the x, y values respectively are
CgH;206 — xCoH50H + yCO, wivo Boog SRuBbessns’ x, y Denisen HEoSm

(1), 11 (2)- 2,1 3) 1,2 4 2,2

120. Which of the following solutions converts blue litmus paper to red?
B+ (300 Tu36* O [EHorsnn DD Solh DenSs T BIUPI?

(1) HCI (2) KOH (3) NaOH (4) Na,COs

* kK
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